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Corrigé du TD de logique n˚
λ-calcul – types simples

Exercice 1 : Types simples

1˚)

x : α ⊢ x : α
(var)

I : α−→α
(abs)

2˚)

x : α, y : β ⊢ x : α
(var)

x : α ⊢ λy.x : β−→α
(abs)

⊢ K : α−→β−→α
(abs)

Γ ⊢ x : α−→β−→γ
(var)

Γ ⊢ z : α
(var)

Γ ⊢ xz : β−→γ
(app)

Γ ⊢ x : α−→β−→γ
(var)

Γ ⊢ y : α−→β
(var)

Γ ⊢ yz : β
(app)

Γ = x : α−→β−→γ, y : α−→β, z : α ⊢ xz(yz) : γ
(app)

⊢ S : (α−→β−→γ)−→(α−→β)−→α−→γ
(abs)3

[cf. S]
⊢ S : (α−→(α−→α)−→α)−→(α−→α−→α)−→α−→α

[cf. K]
⊢ K : α−→(α−→α)−→α

⊢ SK : (α−→α−→α)−→α−→α
(app)

[cf. K]
⊢ K : α−→α−→α

⊢ SKK : α−→α
(app)

3˚) SKK = (λx.λy.λz.xz(yz))KK
β

−→→λz.Kz(Kz)
β

−→→λz.z.
4˚) λx.λy.λz.x(yz)

5˚)

Γ ⊢ x : α−→β−→γ−→δ
(Var)

Γ ⊢ y : β−→α
(Var)

Γ ⊢ w : β
(Var)

Γ ⊢ yw : α
(App)

Γ ⊢ x(yw) : β−→γ−→δ
(App)

Γ ⊢ w : β
(Var)

Γ ⊢ x(yw)w : γ−→δ
(App)

Γ ⊢ z : β−→γ
(Var)

Γ ⊢ w : β
(Var)

Γ ⊢ zw : γ
(App)

Γ = x : α−→β−→γ−→δ, y : β−→α, z : β−→γ,w : β ⊢ x(yw)w(zw) : δ
(App)

⊢ λx.λy.λz.λw.x(yw)w(zw) : (α−→β−→γ−→δ)−→(β−→α)−→(β−→γ)−→β−→δ
(abs*4)
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